[
/ s SowuTrdWs
_ SEcTow w4 — SAmeLe ,

( PSR)
4 | -2
fn L = (7-X
‘()’()‘)7. Cq_x)z | -
| hot
ol nom: W T F (x) “ (

F(x) = (1~ X3 = 7-x

[Rw‘ TWQW P 75"!J GeT * semes roe— Tl

- fod TuER DlrFEREAJTATE




PR
Curren{'ﬂt& , We frave * L
\ o ! ne\ Q=7
fromd G —— % p ] .
‘ 2 7‘h+! n J
(7-% na'f‘ Deep The n=0 Terw .

@ GoaL ' Deop odl inifial terms whida 96—“41 Y O .
| E 1 n—| oY
= —a N x = Q
C7-xN" 7" L G

n=| n=1

: oSS 18 LE §

@ Gosr WHen Possi8Le j ] “(M{.wa{ oy
MAKE THe Foemurs 0 a4, HAVE X

Socumiont Replac n=t  withe n | [wedt, Soloe G j

+ ( + |
W% n o with T @M
< ! (ner) -1
"—!“—' — Z Cnaty 4] (h+y x

C7’X = ) =1 7 |
) Cnfl‘ - Dot -po*‘ge't' +o fesel

W =o mS‘(‘af"‘"t;‘gUﬁM’&“-




PE—‘)BLB’ML CoLuTion) RIS *

-1l =572 ,R
-c(.\i) (7_)()2" y\z-zo ’ ’
el—-“

foo=F 6y i~ FOY T 7-x

oD
S L= L > o, REY
ﬁX) ,7'_)( y\go <r7 nt) :

o 0= Cw)f DT
(7-x) h=o




Proaiem 2: USE Tue RESULT From
Fop A PSR 6.

ProaLem L TO
L

N, S -
foo = (7 -X)?f 2\(— <’('§"_'_')'az) p) 2 7
Cedn | 3
f-(x) X (5‘;;;3 ( Q\’nt:z )

= i (m\) (x”‘)(X)

oD 5 _
Z i+ ) XV\*’ , R"’7

&.s)-rs :-n]

,R=




Peostew 3 Fun a PSR & tan (k) '=\Ca<)
goﬂ'm~ "

- }.go ] ( ent ” - —
‘L’M(ﬂ;%('l) TP A }*C NG I

C:_"  Shx=o , 4a'(r =0
O = 2(—«3“,_.(_,(0§H‘+C = O+C =C

h=vJL
2\44—\ y :
IR ARG oes] |

Uge Ttu PSR Cm'lu:‘(ﬁ h express T

-l , 2h+ |
= fa( Ly = é(-u = (5

Problum 34°




PR.O & LIE M ?A— (Cobnend
[’L’L0577 ¢1_ ) ﬂuS—mEeSCmW\y@.—]

% -
1%: = | _ (2 h+|) ((\r)(gn)B
o

= l
Z ("‘\ ‘ZV\+ )
A

W (o aos [[E0 G o) s

an— M
For l‘Xg\‘ 1

Cafay e (T8 L) 25 A Foc |x\¢]
gm'(o?)ax'ﬂgf—ﬁ (z;;; X ] 7

e ——

s,

bn+q
g L) b = Z (-1 ((zw)(cnqsxk + C
bt o { R=L

\ de = Lt
- (- l\ —— X ' fan - v‘/ > —_ W
&V‘ C nt! | ) G 2n+! ((«h""i 3% |




| P@BL@MS’. Fub am Aappvmmﬂ‘v;“&( Jectnal
v
g L o Corred To S1X places .
o er |
S’&,Q\‘A '.“Scx(sﬁawx” mLans \@rmr\ < O.OOOOOCMT.
og h
b 7 | =g[z )" [
jH—x"' T- (%% hzo .
For \- \‘1
x“1<1

A=

’ S‘[Z (-43"‘«“]0\,( , =

74
: o
S

|+
& “ e |
o [ +x© -,,)C’l) N X (-) ‘2‘:|
= ¢ A )
- o nt\
= (Z ("‘)hé"":.‘ (003) ) - O
- wn
¥h () /
lewt |

o R S i



S

LP‘Q-O&L@'\« 5 (Cont w\ J
G

.._L_ (Y - ' ‘
M = (0 3) /03) +/3 (03) K (/013)""

[ +X© |
O

C s Eg‘ — L‘ + b, =L, +5 ~—-.

-

Tla Senies s ALTERAATING AND ConysnsenT.

1l ERpoR u«\ S* S, S “o-\-ﬂu& Ths b

Sl ERROR | ¢ b

= L 2
L' 7(0.3) = (O, 0000312%3 ><

_ 13
L’a' -,L_;: (03) = O 600060012 ‘
Z 0, c00500 %

Se §,F Bo—ln, has €ecror Smatd enougl .

| &
¢, = (03D - —}7 (03) = 6,297 5¢8757

0.3 : |
f L = 0299967, conedt

D [ +x°©
b sie decimd plce .,




